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Ecal reconstruction flow
Previous remaining problem: 

◦ Threshold is too high (3MeV for bars, ~10MeV for seed)
◦ Low pi0 reconstruction efficiency (<~80%).

Update this time:
◦ Lower the threshold
◦ Add one more iteration to remove fluctuations 



Performance check
Single photon, 5GeV

Left: old results(high threshold).
A bit help in energy resolution and linearity.  
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Performance check
2 5GeV photons, distance = 5cm. 

High Eth (old)Low Eth (new)

Low Eth (new) High Eth (old)
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Performance check
2 photons, scan the distance and energy difference. 

◦ Define: efficiency = 
!!"#$%&
!'$'()

, resolution: 𝜎 𝛿𝐸/𝐸"#$"% , fill with 2 leading 
photons. 
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Photon Reconstruction Efficiency
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Photon Energy Resolution
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Photon Energy Resolution

2 photons resolution

leading photons resolution
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Performance check
𝐸!" = 9𝐺𝑒𝑉, 𝐸!# = 1𝐺𝑒𝑉 can mimic a photon + jet condition

Leading PFO energy
Total energy Leading PFO fraction
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Performance check
5GeV photon + 5 GeV pi-

Leading PFO energy Total energy Leading PFO fraction
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